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dA High 1
dA High u
dA Low 1
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& ckAnd >= 0
& dAnd u >= dAnd 1
& dOr u >=dOr 1
dB Low u>=dB Low 1
High u >=dB High 1
Low u>=dA Low |
High u >= dA High 1
& cka =0
& ckb =0
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dB High u >= ckb]

ckb >= dB High 1
bDown
ckb:=0

[InputZ dA High u >= cka]
cka >= dA High 1

aDown

cka:=0
(InputS dB Low u >= ckb]

ckb >= dB Low 1

bUp )

ckb:=0

cka >= dA Low 1

aUp
cka:=0
ckb:=0
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dA Low u >= Cka]

andGate
(Andlll ckAnd >= o]
bDown
ckAnd := 0 / PUP
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dAnd u >= ckAnd
& ckAnd >= 0

tDown tUp tDown tU
ckAnd := 0 ckAnd := 0 ckAnd := 0 p
dAnd u >= ckAnd
[Andom & CkAnd >= 0 j
ckAnd >= dAnd | ckAnd >= dAnd 1 / ckAnd >= dAnde)Down bUp
xUp xDown xDown ckAnd := 0 \ckAnd:=0
| B dAnd u >= ckAnd
(AndOOO clAnd >= 0] [AndOll ad_u > ckAp j
tDown tUp
[AnleO ckAnd >= o]
bU ckAnd >= dAnd 1
bDown ckAndI?= 0 bUp|bDown <Down —
dAnd u >= ckAnd
[Andllo & ckAnd >= 0 j

tDown tUp

ckAnd := 0

(AndOlo

ckAnd >= o]

orGate
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Orl1l1l
aUp aDown
[OrlOl ckOr >= o]
dOr u >= ckOr
[OrOOl & ckOr >= 0 j
ckOr >= dOr 1 ckOr >= dOr 1
tDown tUp
[OrOOO ckOr >= 0

dOr u >= ckOr
& ckOr >= 0

aUp

aDown

ckOr :=0 ckOr:=0

dOr u >= ckOr

[Orl 10

)

dOr u >= ckOrj

& ckOr >= 0
ckOr >= dOr 1
tUp

Or011

ckOr >=0

& ckOr >= 0
xDown xUp
ckOr:=0 / ckOr:=0

ckOr >= dOr 1
tUp

x Down

xUp



